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CARISH UsR-¢ Al10 AW, (Ao §4.90L-40
Uz -1 (@) A2 suial asleus uedidl 1Rl [@sey didld qvil.(05)
(01) <12l AL Uil s AAHL oraloL vl (05)
e, -2 (1) {12 pUUA UrAlAL G2 6L - QL AULAHL @vil. (06)
(o1) {2l [Faudl vzl 895 viizi d syrdl.(04)
s -3 (1) orlesi sxlsl. (04)
(61) YAAL UHLEL 52, (11)
e, -4 (1) (Al 515wl 2s [Aua u2 [Qold gl (05)

Leap- 6 to 9, ch- 6 to 11, Essay ,Tense, gender, punctuation mark,comprehension. Total - 40 marks
Q-1 (A) 13 2ulaL dAs(eus usdl w12l [sey siHld qvil.(05)
(B) 2ot 05155 us-licll Gz Yes/No Hi @vil (05)
(C) 13 »ua g0zl (A otzdl. (05)
Q-2 (A) <l 2uud 5521 Al usiel syaiol 4wl (05)
(B) <12l e [Aua uz (Aol @vil. (05)
(C) <t 214 w0zl s 219, Articles 451.(02)
Q-3 (A) vhiell sxoun uzl. (03)
(B) <12 wuuat aiani Ao, (A1 R ysl. (03)
(C) 121 whud 2ozl 22l zufdal quil. (02)
(D) el Bol HIZ UM @vil. (05)

aldd

wRAUSH: ch -8 to 14 56 0LQL -40
Q-1 (A) wud [Asey widl 212l (Right) [Aseu y2iz 531.(04)
(B) el souL uzi. (Fill in the blanks.)(04)
Q-2 (A) vi - viizi syeudl.(Write True or False)(04)
(B) 3uidz 521. (Do Convert)(04)
Q-3 13- el oWl (solve the sums)(Any 8)(08)
Q-4 (A) a3l <Al GuAidL 521 syoL il .(04)
(B)>uuat vl W2 2a/d B vi-lldl.(Make a tally mark for given number)(04)
Q-5(A) <12 viudl Hiledl uzedl usiql syalst quil.(Write Answer from given information) (04)
(B) c1a¢iRs sivial aell. (Word problem)(Any 2)(04)
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weeA-1(37) FeEfaf@d g% wea & W & fav fow a1v fshew gaew faf@w|(05)
@) R =t i qfcd dhifere] (05)
URT-2(31) e=Ifoli@d 9=l & I Ueh dod H olidu](05)
(&) @ Rt & @] @r foem 3Rk e R & @ [X] @ foew $ife (05)
UReA-3(37) #ird feU 1w fEEr A T IR H 37eare HifTT] (05)
(@) #H ggTT H AH TAT@T| (05)
gea-4(371) T q@aw B & s @] (05)
() el sgfaT|(05)

5691 -40

>

wlarel
(Environment)

wURYRASH : Ch - 14 t0 25 54901 -40
Q-1 (A) 13 su4 a5(cus Uzq (Question) -l 21121 (Right) [Aseu gl @vil (05)
(B) <2<l Question (Ua<l) <l Answer (s¥dlol) vis - 6L ALAHL dvil.(05)

Q-2 (A) Fill in the blanks (w1l 55241 43i) (05)
(B)Match the following. (o4 671351 2211.)(05)
Q-3 (A) la-L [4814 True(zuai) (V)89 5 False (vi2i)(x) d syoudl .(03)
(B) Classification (ails211) 521.(03)
(C) Hivnl Ysyo 521.(Do as directed)(04)
Q-4(A) H vl Wiz A1H gvil. (Identify me) (03)
(B) vzl Word (20%) u2 951 531. (03)
(C) €251 & M. (Write two names)avil.(04)
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< (4112l {12 2ueal [@Aseinidl a1l [Asey vz 530, (20) §4.90L -40
(MRS AL UHIA 531, (20)

Rsan Uzt -1<{12 2004, Rl vizdl 2oi o718l s10il 2528 U 520 244 R HeAuiE 201 520, (20) $4.90 40
U2~ 2 {2 2uue e [Qwimigl 205 [Aud wzis 52 R izl i 301 51 531 (20)
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# Practice Round For Revision (Bl 2431id uflaiiel Hiowti yoyo, 268,67 amauss sieoe suid 9.

% UlEL £2(HALA ALOU 2011 Howol U3 269 VA ULlEL AL AHA 2 [HALA QAL 2194,
o ulatldl [2a oy [Auaedl ulan i d [Auddl Yrdst digdidl 269,

(Sl 2:4stid udlaid stidls yeuisq HDize 1 4l 5 ui 10 opeid 268, v anausts 49 [@as gz [enluid
21212l syRUAAIML 24149,

& 2AdRs HAsAHL SlHAS, di2ots, 32 222 ,6lordl, siddved  gddquid, [Asall 222 ,aiaq, al, 256 Rl
e 2 2ALAHL 20l 6 - A [AMA HeAis 521 2194,

& Hl 14l 5 Hi 522241 [l Wi uzlal 20 apdl vid 20 sl 4112 MCQ usiz<l 264 i 10 e
id[25 HeAisl 26,

& Hl. 19l 4 Hi Rasalda [uadl wenls wilan 40 oyl 214 10 8L 24idRs Herisdal 84,

& 411 4l 5 Hi zaLvid . (€ (dl 2l), 2dolladl [Auaedl sid sifsz(Q2ll ws weibs udlan 26l

& ulatl (M1 A2siorr 2841 [Aanll ulal siaael Qami 219 4dl,ulen Hiedl sx3<l azd2il w1E o diadl.

% Uzlal YBl 241 oz dl.15/04/20244) d1.30/04/2024 H] 20l AGLAL Horod U3 262, Syl AOUHE 2UIZH i
saol wi(52(421l ualr sami 209, syl dia adl.

& Alls udlend wRoum - 4321 €l 8.9 d1.03/05/2024  95AUR-L Ay Q4.

% Gellgy A5 - 811 9l 8 d1.04/05/2024 | 41.09/06/2024 UH] 284

% Al AL WRAL - 411 Al 9 d1.10/06/2024 < AiHARA] AL AGLAL HoroL A3 A,




